S N\

Page No. | )

/
]
P
/!

- ‘ Clhapten-
] e JATITVISIN o Brat ML.A_@/_C&A_‘{AAM_JS—_
] s C,m(ﬂu : l/\)p, Ml L ‘A [‘anauf-\;“ 9’&"’

\ T q IR i = J U

] .hl/ujjl/) Aol ol 5, algne . jaa¥l Lk » 9013'791- e

“m%r/, WAL (Tuﬁ

P

) ﬂﬂ)\/




g %Page No.” D 3

; Date: / /20
- To measure the smaller capacities we S =
e S we make use of millilitre. It is denoted by
o ‘
0 milk
500mL
A teasﬁ(l)loni Sog meidicine A small pouch of A cold drink bottle
PisSom milk is 500 mL is 300 mL
Litre (L)
To measure the larger capacities we make use of litre. It is denoted by ‘L.

milk
L

A bucket of A Big ﬁdlich : )
' 5 PC A big cold drink
' water is 10 L of milk is 1 L bottle is 2 L A water tank is 500 L

—

- — Circle the correct answer:

100 L 100 mL

_ (g) Acupof coffee

(a) A bottle of milk 2L 2 mL
|| (b) Atank of water —— 500 L 500 mL
— )
|l (c) A syrup bottle 'gc 60 L 60 mL
T
— |l (d) A spoon of honey g 5L 5 mL
S __(e) An aquarium 50 L 50 mL
. -

] 7
~— (A shampoo bottle ( 350 L 350 mL
T .
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(a) A glass of milk

(b) A cup of tea

(c) A bottle of water
(d) A spoon of medicine

(e) A big can of oil
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A
1. L mL | 2. L mL | 3. L mL | 4. L mL B
- j —
45 362 6 1360 38 295
s B
449 + 479|| +| 2 |447||+| 42 647 ——
—
| o
I
7. L [mL|8 | L | mL
s [ L [mL]6 | L | mL
32 1307 13 115
118250 2031455 15 1253 23 (207 |
+11071490|| +(167(284|| +| 26 |184| +| 35 |263 | ——
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— 1. L mL | 2. L mL | 3. L mL
\_f__, ]
L 65 762 6 |350
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NL—— 5. Ir"nlg__ 6. L mL | 7. L mL
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